

BALDWIN TOGETHER has been operating as a source of community referrals and financial assistance for households impacted by COVID-19 since September 2020. Baldwin County VOAD leads this Long Term Recovery in partnership with the Baldwin County Commission and a host of community stakeholders.

Since the program began, **BALDWIN TOGETHER** case managers have provided direct financial assistance in the amount of \$75,042.49 to 165 households. They have worked in collaboration with Community Action's CARES LIHEAP program to provide an additional \$95,000 to 95 households. This means that our Case Managers have assisted 260 households with \$166,513.86.

BALDWIN TOGETHER Funding Sources

Funder	Туре	Amount
Baldwin county Commission	Salaries	\$75,000
Mapp Family Foundation	Client Assistance	\$50,000
State of Alabama CARES Grant	Client Assistance	\$15,000
Private Donors	Client Assistance	\$14,790

BALDWIN TOGETHER was one of the first avenues for COVID-19 related assistance in the region. As the landscape in the County shifted and federal assistance became available, the roles of our Case Managers have shifted slightly from providing financial assistance to providing coordinated referrals. The assistance system can be overwhelming for families in crisis and having one source of trusted information and guidance is vital. **BALDWIN TOGETHER** is continuing to provide connections and referrals for assistance to families who slip through the cracks of federal assistance, and/or who need help navigating through the social service system to receive help. Recent spikes in new variants of COVID-19 have dramatically increased calls to Baldwin Together. In June, the average number of calls was 25 daily up from just 30 calls in the month of January.

When **BALDWIN TOGETHER** began offering case management services for the Baldwin County Commission Emergency Rental Assistance Program, our current **BALDWIN TOGETHER** case managers shifted some of their focus. They keep separate time sheets and bill hours separately to the two programs, but they remain actively involved in **BALDWIN TOGETHER**—the combined hours billed by the two case managers has been reduced from 60 hrs/wk to approximately 15 hr/wk. To date, because of this shift in hours, \$4,573.71 of the funding awarded by the Baldwin County Commission has been spent on **BALDWIN TOGETHER** salaries.

With the recent spikes in COVID-19 due to new variants, and additional monies still available from the third allotment from the Baldwin County Commission, it is our hope that **BALDWIN TOGETHER** can use those funds to continue operate on a part-time basis of 28 hours per week through October or until the funds of exhausted.



Рау	Case Manager	#	Rate	Pd	Туре	Balance	Deposit
Period	Name	Hours	/hr				

9/1/20	9/11/20	llene Baskette	43.5	\$17	\$739.50	Payroll	\$24,260.50	\$25,000.00
		Alicia Gourlay	44.5	\$17	\$756.50	Payroll	\$23,504.00	
9/14/20	9/25/20	llene Baskette	46	\$17	\$782.00	Payroll	\$22,722.00	
		Alicia Gourlay	61.5	\$17	\$1,045.50	Payroll	\$21,676.50	
9/28/20	10/9/20	llene Baskette	50	\$17	\$850.00	Payroll	\$20,826.50	
		Alicia Gourlay	64	\$17	\$1,088.00	Payroll	\$19,738.50	
10/12/20	10/23/20	llene Baskette	44	\$17	\$748.00	Payroll	\$18,990.50	
		Alicia Gourlay	60.5	\$17	\$1,028.50	Payroll	\$17,962.00	
10/26/20	11/6/20	llene Baskette	46	\$17	\$782.00	Payroll	\$17,180.00	
		Alicia Gourlay	63	\$17	\$1,071.00	Payroll	\$16,109.00	
11/9/20	11/20/20	llene Baskette	50	\$17	\$850.00	Payroll	\$15,259.00	
		Alicia Gourlay	63	\$17	\$1,071.00	Payroll	\$14,188.00	
11/23/20	12/4/20	llene Baskette	58.5	\$17	\$994.50	Payroll	\$13,193.50	
		Alicia Gourlay	59	\$17	\$1,003.00	Payroll	\$12,190.50	
12/7/20	12/18/20	llene Baskette	23.75	\$17	\$403.75	Payroll	\$11,786.75	
		Alicia Gourlay	60.5	\$17	\$1,028.50	Payroll	\$10,758.25	
12/21/20	1/1/21	llene Baskette	49	\$17	\$833.00	Payroll	\$9,925.25	
		Alicia Gourlay	64	\$17	\$1,088.00	Payroll	\$8,837.25	
12/30/21	12/30/21	llene Baskette			\$117.74	Mileage	\$8,719.51	
1/4/21	1/15/21	llene Baskette	51	\$17	\$867.00	Payroll	\$7,852.51	
		Alicia Gourlay	64	\$17	\$1,088.00	Payroll	\$6,764.51	
1/18/21	1/29/21	llene Baskette	53	\$17	\$901.00	Payroll	\$5,863.51	
		Alicia Gourlay	63.5	\$17	\$1,079.50	Payroll	\$4,784.01	

2/1/21	2/12/21	llene Baskette	52	\$17	\$884.00	Payroll	\$28,900.01	\$25,000.00
		Alicia Gourlay	65	\$17	\$1,105.00	Payroll	\$27,795.01	
2/15/21	2/26/21	llene Baskette	51	\$17	\$867.00	Payroll	\$26,928.01	
		Alicia Gourlay	64	\$17	\$1,088.00	Payroll	\$25,840.01	
3/1/21	3/12/21	llene Baskette	53	\$17	\$901.00	Payroll	\$24,939.01	
		Alicia Gourlay	66	\$17	\$1,122.00	Payroll	\$23,817.01	
3/15/21	3/26/21	llene Baskette	52	\$17	\$884.00	Payroll	\$22,933.01	
		Alicia Gourlay	64.5	\$17	\$1,096.50	Payroll	\$21,836.51	
3/29/21	4/9/21	llene Baskette	51.25	\$17	\$871.25	Payroll	\$20,965.26	
		Alicia Gourlay	66	\$17	\$1,122.00	Payroll	\$19,843.26	
4/12/21	4/23/21	llene Baskette	49	\$17	\$833.00	Payroll	\$19,010.26	
		Alicia Gourlay	63.5	\$17	\$1,079.50	Payroll	\$17,930.76	
4/26/21	5/7/21	llene Baskette	51	\$17	\$867.00	Payroll	\$17,063.76	
		Alicia Gourlay	56.5	\$17	\$960.50	Payroll	\$16,103.26	
5/10/21	5/21/21	llene Baskette	51	\$17	\$867.00	Payroll	\$15,236.26	
		Alicia Gourlay	47.5	\$17	\$807.50	Payroll	\$14,428.76	
5/24/21	6/4/21	llene Baskette	49	\$17	\$833.00	Payroll	\$13,595.76	
		Alicia Gourlay	64.5	\$17	\$1,096.50	Payroll	\$12,499.26	
6/2/21	6/2/21	llene Baskette			\$72.50	Mileage	\$12,426.76	
		Alicia Gourlay			\$63.22	Mileage	\$12,363.54	
6/7/21	6/18/21	llene Baskette	13	\$17	\$221.00	Payroll	\$12,142.54	
		Alicia Gourlay	56.5	\$17	\$960.50	Payroll	\$11,182.04	
6/21/21	7/2/21	Meg Ratliff	34	\$17	\$578.00	Payroll	\$10,604.04	

		Alicia Gourlay	73	\$17	\$1,241.00	Payroll	\$9,363.04	
7/5/21	7/16/21	Meg Ratliff	57	\$17	\$969.00	Payroll	\$8,394.04	
		Alicia Gourlay	63.75	\$17	\$1,083.75	Payroll	\$7,310.29	
7/19/21	7/30/21	Meg Ratliff	56	\$17	\$952.00	Payroll	\$6,358.29	
		Alicia Gourlay	63.75	\$17	\$1,083.75	Payroll	\$5,274.54	
8/2/21	8/13/21	Meg Ratliff	56	\$17	\$952.00	Payroll	\$4,322.54	
		Alicia Gourlay	64.25	\$17	\$1,092.25	Payroll	\$3,230.29	
8/16/21	8/27/21	Meg Ratliff	56	\$17	\$952.00	Payroll	\$2,278.29	
		Alicia Gourlay	65.5	\$17	\$1,113.50	Payroll	\$1,164.79	
8/30/21	8/31/21	Meg Ratliff	10.5	\$17	\$178.50	Payroll	\$986.29	
		Alicia Gourlay	13	\$17	\$221.00	Payroll	\$765.29	
9/1/21	9/10/21	Meg Ratliff	35	19	\$665.00	Payroll	\$25,100.29	
		Alicia Gourlay	50	19	\$950.00	Payroll	\$24,150.29	
9/13/21	9/24/21	Meg Ratliff	28	19	\$532.00	Payroll	\$23,618.29	
		Alicia Gourlay	10	19	\$190.00	Payroll	\$23,428.29	
9/27/21	10/8/21	Meg Ratliff	28	19	\$532.00	Payroll	\$22,896.29	
		Alicia Gourlay	4.5	19	\$85.50	Payroll	\$22,810.79	
10/11/21	10/22/21	Meg Ratliff	28	19	\$532.00	Payroll	\$22,278.79	
		Alicia Gourlay	4	19	\$76.00	Payroll	\$22,202.79	
10/25/21	11/5/21	Meg Ratliff	28	19	\$532.00	Payroll	\$21,670.79	
		Alicia Gourlay	1.5	19	\$28.50	Payroll	\$21,642.29	
11/8/21	11/19/21	Meg Ratliff	28	19	\$532.00	Payroll	\$21,110.29	

		Alicia Gourlay	5	19	\$95.00	Payroll	\$21,015.29
11/24/21	12/3/21	Meg Ratliff	24	19	\$456.00	Payroll	\$20,559.29
		Alicia Gourlay	7	19	\$133.00	Payroll	\$20,426.29
12/5/21	12/18/21	Meg Ratliff	28	\$19	\$532.00	Payroll	\$19,894.29
		Alicia Gourlay	3.5	\$19	\$66.50	Payroll	\$19,827.79
12/20/21	12/31/21	Meg Ratliff	24	\$19	\$456.00	Payroll	\$19,371.79
		Alicia Gourlay	3	\$19	\$57.00	Payroll	\$19,314.79
12/29/21		Meg Ratliff			\$73.08	Mileage	\$19,241.71
1/2/22	1/15/22	Meg Ratliff	14	\$19	\$266.00	Payroll	\$18,975.71
		Alicia Gourlay	31	\$19	\$589.00	Payroll	\$18,386.71
1/16/22	1/29/22	Meg Ratliff	28	\$19	\$532.00	Payroll	\$17,854.71
		Alicia Gourlay	3	\$19	\$57.00	Payroll	\$17,797.71
1/30/22	2/12/22	Meg Ratliff	28	\$19	\$532.00	Payroll	\$17,265.71
		Alicia Gourlay	4	\$19	\$76.00	Payroll	\$17,189.71
2/13/22	2/26/22	Meg Ratliff	28	\$19	\$532.00	Payroll	\$16,657.71
		Alicia Gourlay	3	\$19	\$57.00	Payroll	\$16,600.71
2/27/22	3/13/22	Meg Ratliff	25	\$19	\$475.00	Payroll	\$16,125.71
		Alicia Gourlay	3	\$19	\$57.00	Payroll	\$16,068.71
3/14/22	3/25/22	Meg Ratliff	28	\$19	\$532.00	Payroll	\$15,536.71
		Alicia Gourlay	3	\$19	\$57.00	Payroll	\$15,479.71
3/26/22	4/8/22	Meg Ratliff	28	\$19	\$532.00	Payroll	\$14,947.71
		Alicia Gourlay	2.5	\$19	\$47.50	Payroll	\$14,900.21
4/9/22	4/22/22	Meg Ratliff	28	\$19	\$532.00	Payroll	\$14,368.21

		Alicia Gourlay	1	\$19	\$19.00	Payroll	\$14,349.21
4/23/22	5/7/22	Meg Ratliff	45.5	\$19	\$864.50	Payroll	\$13,484.71
		Alicia Gourlay	2	\$19	\$38.00	Payroll	\$13,446.71
5/8/22	5/21/22	Meg Ratliff	17	\$19	\$323.00	Payroll	\$13,123.71
		Alicia Gourlay	1	\$19	\$19.00	Payroll	\$13,104.71
5/22/22	6/4/22	Meg Ratliff	84	\$19	\$1,596.00	Payroll	\$11,508.71
		Alicia Gourlay	1.5	\$19	\$28.50	Payroll	\$11,480.21
6/5/22	6/18/22	Meg Ratliff	84	\$19	\$1,596.00	Payroll	\$9,884.21
		Alicia Gourlay	0.5	\$19	\$9.50	Payroll	\$9,874.71
6/19/22	7/1/22	Meg Ratliff	84	\$19	\$1,596.00	Payroll	\$8,278.71
		Alicia Gourlay	1.5	\$19	\$28.50	Payroll	\$8,250.21
7/2/22	7/7/22	Alicia Gourlay	12.5	\$19	\$237.50	Payroll	\$8,012.71